SIGNATURE SERIES

TJ FRAME TIE-IN BRACKETS

*PLEASE READ THROUGH THE
INSTRUCTIONS BEFORE BEGINNING
ANY PART OF THE INSTALLATION
PROCESS*

WEB INSTALL LINK:
http://lodoffroad.com/assets/pdfs/JFT9601.pdf

ITEM NO.|  PART NUMBER DESCRIPTION Qry.
1 4JFT9600 TJ FRAME TIE IN BRACKET DS 1
2 |4JFT9600-2 TJ FRAME TIE IN BRACKET PS 1
HARDWARE
ITEM NO.| PART NUMBER DESCRIPTION Qry.
3 |HB431424ZPGR5 HEX BOLT 7/16-14 X 1.50 HEX BOLT ZINC PLATE GRS | 4
4 |HB431456IPGR5 HEX BOLT 7/16-14 X 3.50 HEX BOLT ZINC PLATEGR5 | 4
5  |HN4314ZPGR5 HEX NUT 7/16-14 ZINC PLATE GR5 8
6 |Fw4318zP FLAT WASHER @7/16 X 1.25" ZINC PLATED 16
—THESE BOLTS MOUNT
TO BUMPER
\'/’17“)
)
<\ AN
—DRILL THESE HOLES IN
JEEP FRAME
) L) UNLESS OTHERWIE SPECIFED wave | owe AT T,
\\\/ (6) N DIMENSIONS AREININCHES | DRAWN MCH | 3/6/2020 LOD LLC.
N R ool creckeD DESCRIPTION:
THREE FACE DEGIWAL 20005 | ENC APPR TJ FRAME TIE IN BRACKETS
MES APPR
PROPRIETARY AND CONFIDENTIAL m"';’”’“
IHE BFORMATON COMARED I g, DWG. NO. REV
rroreRnt oF oolic. any | BLACK POWDER COAT
S o JFT92600 A
SN O O UCE | -
ROMIBITED. SCALE: 1:2 SHEET SIZE: B SHEET 1 OF 1

JFT9601 - REV 1 02/26/19 Page 1



. ¢

>

TJ SIGNATURE SERIES
Frame Tie-In Brackets

SHIPPING SHEET
Packaged by:

On:

i jo

% @ -
)
BOLT KIT
(may vary)

Frame Bracket
PS

(x1)

JFT9601 - REV 1

Frame Bracket
DS

(x1)

02/26/19

Page 2



<qQp

TJ SIGNATURE SERIES
Frame Tie-In Brackets

Bolt Kit
Packaged by:

On:

JFT9601 - REV 1

(I

Hex Bolt
7/16"-14 x 1.5"
(x4)

[ 1]

L1

Hex Bolt

7/16"-14 x 3.5"

02/26/19

Hex Nut
7/16"-14
(x8)

[[ 1]

(x4)

Page 3



OIOIONO:
OIOIONO)
OIOIONO:
OIOIOIO:

Flat Washer
7/16" x 1.25"
(x16)

JFT9601 - REV 1 02/26/19 Page 4



